CATALOG 128_CATALOG 126.qxd 6/14/2013 1:07 PM Page 38 4@i

ELECTRENIEE & TECHNOLOISY, INL:.

Front Panels

Screw-mounted front panel kits include handle and identification panel. Available in 3U, 6U and 9U heights and in three widths: 4HP (0.788”),
8HP (1.588”) and 12HP (2.388”). All mounting hardware, including board mounting support bracket and hardware also included. Brushed
aluminum panel with clear irridite plating matches standard finish for Vector packaging products.

Front Panels, Ejector Style, Type |, Il & @

Ejector Knob ) Front Panel

ID Plate-

Captive Screv&
Retainer Sleeve—

‘L' - Bracket: ;
@

Part# DESCRIPTION A B C D
FPE04-3U 3UX4HP 506" 0.788° N/A N/A
FPE08-3U 3UXB8HP 506" 1.588" N/A N/A
FPE12-3U 3UX12HP 506" 2.388" N/A N/A
FPEO4-6U 6U X4HP  10.31” 0.788" 3.50” 5.25
FPE08-6U 6UX8HP  10.31” 1.588" 3.50” 5.25
FPE12-6U 6U X 12HP 10.31” 2.388" 3.50” 5.25
FPE04-9U 9U X4HP  1556” 0.788" 3.50” 5.25
FPEO8-9U 9U X8HP  1556” 1.588" 3.50” 5.25
FPE12-9U 9U X 12HP 1556” 2.388" 3.50” 5.25

-Add suffix “B” to part # for panels without center brackets mounting, e.g. FPE04-6UB

Front Panels, Fixed Handle Style, Type V
Type V, 3U Fixed Handle Style

Kerainer >ieeve

(&)
=S
w ©
| ..
(=]
O =
Z v

M2.5 x 11 Captive

Screw
M2.5 x 8 Flat /

Head Screw

&\M2.5 x10

. Filister Head
|, Screw

ID Plate

‘L' - Brackets
M2.5 x 14 Filister
Head Screw

Plastic Handle _PC Board

!

%6 ) q\ms 0.45
= Hex Nut
Part# DESCRIPTION A B

FPE04-3U 3U X 4HP 5.06” 0.788"
FPEO8-3U 3U X 8HP 5.06” 1.588”
FPE12-3U 3U X 12HP 506" 2.388”
FPEO4-6U 6U X 4HP 10.31” 0.788”
FPEO8-6U 6U X 8HP 10.31” 1.588”
FPE12-6U 6U X 12HP 10.31” 2.388”
FPE04-9U 9U X 4HP 15.56” 0.788”
FPEO8-9U 9U X 8HP 15.56" 1.588”
‘* FPE12-9U 9U X 12HP 1556” 2.388"

-Fixed Handle Style front panel kit includes upper and lower handles (lower only on 3U versions)
that extend across the full width of the panel

Specification subject to change without notice
www.vectorelect.com 800-423-5659



CATALOG 128_CATALOG 126.qxd 6/7/2013 9:46 AM Page 39 4@i

SRS R INTIE BT S LR IN L L S B S L

é s Standard Filler Panels

Filler Panels/Blank-off Plates 3U FILLER PANELS
0.000 +0.000
Features 0.788*.&811)2 1588 t_g.mz 2.388 -0.012
* Covers unused slots §_} ! !
o!
* Improves air flow © e o= s
Captive sleeves/screws & /
are included with all - o
VectorPak™ filler panels _Mountmg hardware Sus 01
and also sold separately included gs .
in a hardware Kkit: < g
~ d
0 T
P/N HD99-1 Typical slot width is 0.800” (4HP) 3
Includes Qty 0.
Black plastic sleeve 48 Material: 606§T5, ex.truded
M2.5 x 11 mm,nickel 48 brushed Aluminum with clear 0.294"
plated steel screw Irridite finish. [
[] L{o [o) (] [=]
. . 4 HP 8 HP w"‘"—l 12 HP
Each Filler Panel Kit Includes
4,8 or 12HP panel (0.8, 1.6” or 2.4”) 6U FILLER PANELS
M2.5 Nickel plated mounting screws with ‘captive’
sleeves © e °T /’ °
]
o
U  Part Number Part Number Part Number g s . gg,:g;";'“st’"/
4HP 8HP 12HP =35 2
EG I s s L~ DS
3 5231304-07 5231308-07 5231312-07 a7 B T -
6 5261304-07 5261308-07 5261312-07 2
9 5291304-07 5291308-07 5291312-07
| 0.294 ‘*_
o t-{o d‘> @ o =
0294" | |
4 HP gWwp - 12 HP
www.vectorelect.com 800-423-5659 @



TOF

IN349C
ELECTRONICS & TECHNOLOGY, INC
o Q;es
2 mzst lﬂ k— 2x.294 12HP ID Plate
1
-F - 6OO
<o oollaoas
|1
- >\
! —Top Handle 8HP Handle
1 only for 6U & 9U
}
1’/ f @@jao@ Optional
H I ' for 6U & 9U
I 4HP Handle i High Panel
! PANEL i'-‘"- Shown 12HP VECTOR P/N# HD102
" n HEIGHT A Bottom Handle
NN T ) D EEY 5.067 Configuration
N |
| & ool M2.5x8Fiat
i ' Head Screw
1)
7 R_\ M2.5 x 10
f f / Filister Head Screw
I
‘i‘li‘l — 110 x.150 Retainer Sleeve @ ©
1! OBROUND S
i
(sha] o% 'p 0O 5!1{
ol i
i
2 X.294 —m=— L o103

'L' Brackets
—— B il | —
M2.5x 16 I = -340"7
PANEL Filister Head Screw — 277
WIDTH B N ] 'L' Bracket
4 HP 0.788 Detail
8 HP 1.588 Washer PC Board 37272
12HP 2.388 Plastic Handle

.285 ——
™ ] }<— 240

4 hid R 454
’(\:Az‘st.x ”S M2.5 x 0.45 .6;15 - ¢ ;L/BI
aprive screw Hex Nut \EE/
T Hb
.170
11115, VANOWEN STREET, NORTH HOLLYWOOD, CA-91605
TOLERANCE : .XXX + .010

www.vectorelect.com



OR

ELECTRONICS & TECHNOLOGY, INC

Wy e/ oW mj

11115 Vanowen Street, North Hollywood,CA 91605
Phone: (818) 985-8208 Fax: (818) 985-7708

IN399

1 | [
0200x0.200 | W1\l
CUTOUT — ! !

0.150 RAD.
OO75>‘ ..........

Ejector Knob Front Panel
-~

ID Plate

Captive Screw

Retainer Sleeve

PC Board
‘L' - Bracket

FPEO4-6U PANEL WILL HAVE TWO CENTER HOLES FOR OPTIONAL 3U 'L' BRACKETS.
ORDER FPEO4-6UB FOR PANEL WITHOUT THE CENTER HOLES.




	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View11

	IN399.pdf
	Sheet1
	Drawing View1
	Detail View B (3.2 : 1)
	Drawing View3
	Drawing View5
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12



